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L/ BR 47 45| 92/21.6 |70.4 26 S1/hA R 40 44| 84 7.2 |76.8 12
21 FEYE 51 46|  97(26.4 |70.6 44 32| FLjpk Wz 49 47| 96/19.2 |76.8 39
3| —iH otk 43 40| 83/12.0 |71.0 7 33K e 44 45| 89/12.0 |77.0 21
415K R 42 40|  82(10.8 [71.2 5 34(1rm A BH 53 48| 101/24.0 |77.0 49
5|1 B 46 47| 93/21.6 |71.4 33 35|KE Mk 51 50/ 101/24.0 |77.0 50
6| A 35 38| 73| 1.2 |71.8 1 36|Efs 1ERA 41 47| 88/10.8 |77.2 20
THF =B 41 42| 83/10.8 [72.2 9 37| =R [E T 45 49|  94/16.8 |77.2 36
8|4 H: 42 44|  86(13.2 |72.8 16 38| TH =7 40 41| 81| 3.6 |77.4 3
9l sl 47 51| 98/25.2 |72.8 46 39l PRIL 43 50/ 93|15.6 |77.4 34
10|%65 3 42 41| 83 9.6 [73.4 8 40| ik HHE 43 43| 86| 8.4 |77.6 15
11 &F0 FRHE 41 39| 80| 6.0 |74.0 2 41| FERIE B 52 57| 109|31.2 |77.8 53
12| e 46| 46| 92/18.0 |74.0 28 42| IUAR & K H 50 46 96/18.0 |78.0 38
13/ W #= 42 42| 84| 9.6 |74.4 10 A3Vl —PR 45 51 96/18.0 |78.0 41
HRE FE 45 45| 90|15.6 |74.4 24 44| 7)1 Bt 43 40| 83| 4.8 |78.2 6
15 BT R 43 46|  8914.4 |74.6 22 45| 48 46|  94/15.6 |78.4 35
16|48 Y5 44 38 82| 7.2 |74.8 4 46 | LUy —KE 49 44|  9314.4 |78.6 31
1781 & 47 41| 88/13.2 |74.8 19 AT | REIR s 50 49| 99/20.4 |78.6 47
18JIHs ER 46 46| 92[16.8 |75.2 27 BT T 56 52| 108/28.8 [79.2 52
197t F+ 45 47| 92|16.8 |75.2 29 49(1rm ¥R 53 54| 10727.6 |79.4 51

20| =fE B 44 48|  92/16.8 [75.2 30 50 AT PR 48 51| 99/19.2 79.8 48
21 HIR 5 45 52|  97/21.6 |75.4 45 51K KF 52 59| 111/31.2 79.8 55
22| TH B+ 47 43|  90[14.4 |75.6 23 52| KA1 58 46 65| 111(31.2 |79.8 57
23| EF 1A 41 43| 84| 8.4 |75.6 11 53 /MR 7K H] 50 60/ 110/30.0 |80.0 54
24 /NI g 45 51|  96/20.4 |75.6 40 b4|mta IEA 43 53|  96/15.6 |80.4 43
2579 fEFE 44 52|  96/20.4 |75.6 42 55| fili— 45 50/ 95|14.4 |80.6 37
26| H 43 44|  87/10.8 |76.2 17 56 |#% =% 56 56| 112/31.2 80.8 58
27| = =W 43 44|  87/10.8 |76.2 18 57|41 Mk 48 44| 92/10.8 (81.2 25
28| IAA BN 46 47| 93]16.8 [76.2 32 58|fEA W5aH 60 56| 116|34.8 |81.2 59
29| KK EE 45 41] 86| 9.6 |76.4 13 59T EET 49 62| 111/25.2 |85.8 56
30| E Ry AR 44| 42| 86| 9.6 |76.4 14 60 | AL —F 66/ 69| 135/36.0 |99.0 60
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